Problem Wk.2.3.1: Inheritance |

Consider the following program:

class NN:

def __init__ (self):
self.n =0

def get(self):
self.n += 1
return str(self.n)

def reset(self):
self.n =0

class NS(NN):

def get(self, s):
return s + NN.get(self)

The following statements are executed in sequential order.

1. What does this print?

foo = NSQO
print foo.get("a")

2. What does this print?

print foo.get("b")

3. What does this print?

foo.reset()
print foo.get("c")



MIT OpenCourseWare
http://ocw.mit.edu

6.01SC Introduction to Electrical Engineering and Computer Science
Spring 2011

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.



http://ocw.mit.edu
http://ocw.mit.edu/terms

